000443-001

2007 Precedent Gasoline and Electric VVehicle lllustrated Parts List

Page 4-6



PEDAL GROUP CONNECTIONS — GASOLINE VEHICLE

ITEM PART NO. DESCRIPTION QTY
1 2 3 4
1 1010434 Barrel - PIASHIC .....coooiiiieeeeee et 1
2 101990802 EQUAlIZEN BraCKeL ...t e e 1
3 102292201 Screw-1/4-20X1.25 TOrX PN HASA ...oooiiiiiiiiiieiiie e 2
4 102297901 BOIt, 5/16-18 X 7.375, HEX ..vvvviiiiiiiiiee st ie et e sttt e e ntae e e e nntae e e e s 1
5 102298030 Screw, K80X30, TOrX PN HA Pt ..o 2
6 102500801 Plate - FIOOT COVET ...ueiieiieiiieiit ettt et e et e e 1
7 102513102 Cable, ACC, SNAP-IN oottt e e e e e e e e 1
8 102551901 | Washer, 5/16, Self COmMP, CUP ...oocciciiieiiieeeee e ee e e e e s are e e e e e e e e s annes 1
9 102552001 | Washer, 5/16, Self COmMP, CONE .....uuiiiiiiieeeieeiccecieeeee e e e e e e e e 1
10 102594301 Nut, 5/16-18, HEX AJUSEING =l ..eeiiuiiiiieiiiiie e 1
11 1242 NUL, 5/16-18 HEX .eeieiiiiiiiei ittt ettt et e e e s ennbe e e e s eees 1

2007 Precedent Gasoline and Electric Vehicle lllustrated Parts List

Page 4-7




